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QUESTION 1

Which of the following descriptions about the InfoEqualizer features of the OceanStor 9000 storage system are
incorrect. (Multiple Selections)

A. Dynamic domain name, which returns the dynamic IP address of the node for the client, supports the failover function
and is recommended for CIFS protocol sharing

B. Static domain name, which returns the domain name of the node\\'s static external IP address to clients, is
recommended for NFS protocol sharing

C. dynamic external IP address, node failure, the dynamic IP address can be automatically assigned to other working
nodes, the client can pass again This IP address is connected to the OceanStor 9000

D. static external IP address, the node fails, the client can not access the oceanstor 9000 through the IP address

Correct Answer: AB

QUESTION 2

Which statements are true about the performance of RAID 10 and that of RAID 5? (Multiple choice.)
A. RAID 5 outperforms RAID 10 in continuous random read.

B. RAID 5 outperforms RAID 10 in continuous sequential read and write.

C. RAID 10 outperforms RAID 5 in continuous sequential write.

D. RAID 5 and RAID 10 provide almost the same performance level in continuous random read..

Correct Answer: BD

QUESTION 3

The backup back-end capacity is derived from the initial capacity and data increment.
A. True

B. False

Correct Answer: B

QUESTION 4

WMware backup transfer mode NBD SSL refers to the backup agent through the TCP / IP network to read the backup
data, VSA and ESX between encrypted transmission.

A. True
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B. False

Correct Answer: A

QUESTION 5

Which of the following are characteristics of the SmartVirtualization-based Data Migration Solution? (Multiple Choice)
A. It does not consume any host resources.

B. It is lower in migration cost than gateway-layer solutions such as those based IBM SVC, and EMC VPLEX.

C. It requires services to stop only once, and the service stopping occurs after the migration.

D. It delivers higher migration speed than host-layer solutions.

Correct Answer. ABD
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